Fall Harvest Problem Solving- Math

1.  Sarah and Christian planted pumpkins last summer. In
October, Sarah picked 5 pumpkins, Christian picked 3.
How many pumpkins do they have?

2. Hugh cooked 9 ears of corn. Sadie ate 2. How many
ears are left?

3. Farmer Don picked a pumpkin that was 4 pounds,
Farmer Theresa picked one that was 6 pounds. Whose
pumpkin was bigger?

4. Lincoln had 8 apples in a bag. 3 apples had worms in
them. How many apples are still good to eat?

5. Caramel Apples cost $1 each at the Farmer's Market.
How much does it cost to buy 4 caramel apples?

6. One corn stalk has 3 ears growing on it. The other
stalk has 4 ears. How many ears in all?




